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QUESTION 1

You are asked to forward event messages from Mist to an external log collector. 

In this scenario, which feature would enable this capability? 

A. syslog 

B. webhooks 

C. NETCONF 

D. SNMP traps 

Correct Answer: B 

 

QUESTION 2

The customer wants to broadcast a WLAN at a certain time and day of the week. 

Which statement is correct in this scenario? 

A. Third-party integration is required to achieve this requirement. 

B. Mist supports this function with an additional subscription. 

C. APs need to be upgraded for this feature. 

D. SSID scheduling should be configured. 

Correct Answer: D 

 

QUESTION 3

Which two terms correctly describe transmissions over Wi-Fi? (Choose two.) 

A. shared medium 

B. half-duplex 

C. full-duplex 

D. point-to-point medium 

Correct Answer: AC 

 

QUESTION 4

You have received a Marvis Actions Missing VLAN notification. 
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In this scenario, where is the problem? 

A. The gateway is missing the VLAN. 

B. An access point is missing the VLAN. 

C. A client is missing the VLAN. 

D. A switch is missing the VLAN. 

Correct Answer: D 

Reference: https://www.mist.com/documentation/what-is-marvis-actions/ 

 

QUESTION 5

In which two layers of the OSI model are WLANs located? (Choose two.) 

A. Network 

B. Transport 

C. Physical 

D. Data Link 

Correct Answer: CD 

Reference: https://www.controleng.com/articles/wi-fi-and-the-osi-model/ 
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